
          Solution of the day/ August 7, 2019 

 6th Class 

 Mathematics: Ans : (A) 
The predecessor of 0 is -1 

But -1 is not a whole number  

Therefore whole number 0 has no predecessor 

 Physics: Ans: (A) 

 Chemistry:  Ans: (A) 

 Biology: Ans: (D)  

7th Class 

 Mathematics : Ans : (D)
 
 

 Physics: Ans: (A) 

 Chemistry: Ans: (D) 

 Biology: Ans: (D) 

8th class 

 Mathematics: Ans: (A) 
23 23 23 23 235 5 5 5 5 5x      

 235 5 5x    
1 235 5 5x    m n m na a a      
245 5x   

24x    0,1m na a a m n       
Thus, the value of x is 24. 
The correct answer is A. 

 Physics: Ans : (D) 

 Chemistry: Ans: (C) 
Mg+2H2O→Mg(OH) 2+H2↑LiH+H2O→LiOH+H2↑

 
 Biology:  Ans: (C) 

 

 

 



 

9th Class 

 Mathematics : Ans : (D) 
50ºBAC   

 and 140ºAB DF AEF    

 70º ,ABC ABC BAC and ACB are in a triangle      

 Physics: Ans : (A) 

 Chemistry: Ans: (C) 

 Biology: Ans: (B)
 
 

10th class 

 Mathematics: Ans : (C) 

Let the present ages of John and Jamie be x years and y years respectively 
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After 5 years, their respective ages will be (x + 5) years and (y + 5) years. 
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5x + 25 = 4y + 20 
5x + 5 = 4y 
Putting the value of x from (1) 

35 5 4
4

y y    

154 5
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y     
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20y   

Thus Jamie’s present age is 20 years. 
 Physics: Ans: (C)  

 Chemistry: Ans: (C)  

 Biology: Ans: (D)  

 Reasoning : Ans: (A)  
Effective length covered in 1 min = 5 – 2 = 3 m 
First 30 m = 3 m  10 min 
Seconds 5 m = 5m   1 min 
Overall time taken by monkey is 11 min 
 


